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1 BEr4 EJll EfT
(E&ER) HEE (M) REE (M) REEMR L
M oE OB & B 20, 000 92, 750 18. 2%
5 = = 140, 000 20,110 3. 9%
Lo N BB 20, 000 0
EF-HBETHE 2,000 0
g B £ B B 70, 000 75, 787 14. 8%
Z H B A B 170, 000 212,725 41.7%
§ EHAE LS 140, 000 109, 344 21. 4%
£ ERE 6, 000 0
0 it B B 35, 000 0
& 5t 603, 000 510, 716 100. 0%
%Xt %8 300, 000 B B 8 0
ER=EEE:E 210, 716
2 ZaRs 158 2
(#E&ER) sE%E (M) REE (M) SREEMR L
W oE OB & B 40, 000 0
5 = = 60, 000 12, 460 6. 4%
Lo N BB 20, 000 0
EF-HETHE 2,000 0
& B £ B B 22,000 0
Z H B A B 60, 000 25, 080 12. 9%
§ EHAE LS 189, 000 157, 220 80. 7%
& EHBmME 0 0
0 it BB 0 0
& it 393, 000 194, 760 100. 0%
%Xt %8 300, 000 B B 8 105, 240
ER=EEE:E 0
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(#E&ER) sEZE (M) REE (M) SREEMR L
M OE OB & E 90, 000 0
Bl = = 60, 000 0
L % » B & 0 0
EE-BERIEBE 0 0
g H % B B 10, 000 0
Z H B A B 78, 000 63, 730 100. 0%
i EHERE U 62, 000 0
£ ERRE 0 0
0 it BB 0 0
& it 300, 000 63, 730 100. 0%
%Xt %8 300, 000 B B 8 236, 270
ER=R=E:E 0
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(E21ER) HEE (M) REE (M) REEMR L
M oE OB & B 230, 000 236, 710 67. 3%
i = = 90, 000 12, 353 3. 5%
Lo N BB 1,000 0
B -EEEHE 0 0
g B £ B B 0 0
Z H B A B 100, 000 102, 700 29. 2%
§ EHRE U 0 0
£ ERE 0 0
0 it B B 0 0
& 5t 421,000 351, 763 100. 0%
%t 300, 000 B OB % 0
EE=R=E:t s 51,763
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W oE OB & B 120, 000 45, 540 27. 9%
i = = 50, 000 0
Lo N BB 0 0
B -EEEHE 0 0
& B £ B B 1,000 0
Z H B A B 25, 000 11,160 6. 8%
§ ETFARE LS 106, 000 106, 670 65. 3%
£ ERTE 0 0
0 it BB 0 0
it 302, 000 163, 370 100. 0%
%t 300, 000 B B % 136, 630
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B -EEEHE 0 0
g H % B B 0 0
E H B A B 200, 000 217, 590 62. 4%
i ERATE LS 0 0
£ ERRE 0 0
0 it BB 0 74, 400 21. 4%
it 350, 000 348, 530 100. 0%
%t 300, 000 B B % 0
ER=R=E:E 48, 530
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5 = & 95, 000 20, 570 8. 5%
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EF-HBETHE 0 0
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E M B A B 100, 000 110, 384 45. 7%
§ EHAE LS 60, 000 67,567 28. 0%
1 EHBmME 0 0
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5t 325, 000 241, 391 100. 0%
%t 300, 000 B B 8 58, 609
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W oE OB & B 150, 000 261, 936 68. 5%
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Z H % B B 20, 000 0
E M B A B 90, 000 73, 802 19. 3%
§ EHAE LS 53, 000 46, 622 12. 2%
& EHBmME 0 0
0 1 B B 0 0
it 383, 000 382, 360 100. 0%
%t 300, 000 B B 8 0
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M OE OB & E 100, 000 92, 268 55. 7%
Bl = = 110, 000 22,143 13. 4%
Lo N BB 10, 000 0
EE-BERIEBE 0 0
g H % B B 20, 000 0
Z H B A B 60, 000 43, 300 26. 1%
i EHERE U 0 7,938 4. 8%
& EHBmME 0 0
0 1 B B 0 0
it 300, 000 165, 649 100. 0%
%t 300, 000 B B 8 134, 351
B2 8858 0
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M oE OB & B 55, 000 65, 751 22. 3%
5 = & 95, 000 128, 151 43. 4%
Lo N BB 5, 000 0
EF-HBETHE 3,000 0
Z H % B B 13,000 0
Z H B A B 55, 000 2,530 0. 9%
§ EHAE LS 74, 000 98,513 33. 4%
1 EHBmME 0 0
z 0O i B E 0 0
& 5t 300, 000 294, 945 100. 0%
%t 300, 000 B B 8 5, 055
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5 = & 83, 000 14, 280 5. 8%
Lo N BB 5, 000 11, 430 4. 7%
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Z H % B B 60, 000 0
Z H B A B 50, 800 47,074 19. 3%
§ EHAE LS 62, 000 162, 582 66. 5%
& EHBmME 0 0
0 1 B B 0 0
& it 303, 800 244, 366 100. 0%
%t 300, 000 B B 8 55, 634
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M OE OB & E 85, 000 38, 790 13. 7%
Bl = = 37,000 10, 780 3. 8%
L % » B & 0 0
EE-BERIEBE 0 0
g H % B B 20, 000 0
Z H B A B 60, 800 43, 300 15. 3%
i EHERE U 100, 000 190, 196 67. 2%
£ EHRE 0 0
0 1 B B 0 0
& it 302, 800 283, 066 100. 0%
%t 300, 000 B B 8 16, 934
B2 8858 0
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M oE OB & B 120, 000 68, 398 30. 7%
5 = & 113, 000 20, 470 9. 2%
Lo N BB 5,000 0
EF-HBETHE 0 0
Z H % B B 8, 000 0
E M B A B 10, 000 4,730 2. 1%
§ EHAE LS 44, 000 129, 120 58. 0%
1 EHBmME 0 0
z 0O i B E 0 0
& 5t 300, 000 222,718 100. 0%
%t 300, 000 B B 8 77,282
B2 8858 0
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(#E&ER) sE%E (M) REE (M) SREEMR L
W oE OB & B 90, 000 0
5 = & 96, 000 0
Lo N BB 10, 000 2, 460 3. 0%
EF-HETHE 0 0
Z H % B B 0 0
E M B A B 89, 160 66, 360 79. 5%
§ EHAE LS 20, 000 14, 615 17. 5%
& EHBmME 0 0
0 1 B B 0 0
& it 305, 160 83, 435 100. 0%
%t 300, 000 B B 8 216, 565
B2 8858 0
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(#E&ER) sEZE (M) REE (M) SREEMR L
M OE OB & E 110, 000 163, 120 70. 4%
Bl = = 130, 000 7,300 3. 2%
L % » B & 0 0
EE-BERIEBE 0 0
g H % B B 0 0
Z H B A B 50, 000 54, 650 23. 6%
i EHERE U 10, 000 6, 590 2. 8%
£ EHRE 0 0
0 1 B B 0 0
& it 300, 000 231, 660 100. 0%
%t 300, 000 B B 8 68, 340
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